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Y~ It P(E) = 0.73, then probability of 'nol E 18
(A) 0.3 (ByY”0.27
(C) 0.25 (D) 0.37

2. Yamuna river enters Haryana near

forest.
(A) Kalesar (B) Bandipur
(C) Gir (D) Satpura

3. Which of the following materials has lower
resistivity 7
(A) Silver (B) Constantan
(C) Manganin (D) Glass

4. Arrange the following in the chronological
order.

1. August Offer
2. Poona Pact
3. Third Round Table Conference

Choose the right code.
(A) 1-2-3 B) 3—-2-1
(C) 2-3-1 (D) 1-3-2
5. Value of cos?30°+ sin“45°— % tan?60° is

(A) O (B) 1

© % o Y

6. The present day Haryana came under the
control of British rule in the year

(A) 1803 (B) 1777
(C) 1600 (D) 1781

Hi Qh'}' reactive metal among the fﬁ"ﬂ"ﬂiﬂg

4| Lead (B) Iron
Q (C) Copper

(D) Zinc

0O A RN A
1/ af P(E)=0.73, @ EF g’ = iR 2 8.
08 (B) 0.27
(C) 0.25 (D) 0.37
2, mgm A EfEIIH a4 & ITH |
e ] @ | |
(A) HicTE (B) =T
(c) Tm (D) @dds!
3. Frffia | 8 158 qard 1 HAEAE 1
FHE T o
(A) =Tl (B) W
(cy A (D) =TE
4, oA et A A |
1. ST g
2. g1 |ansdl
3. gd/ M 9S FeH
et FE 1 |
(A) 1-2-3 (B) 3-2-1
(C) 2—3-1 (D) 1-3-2

\5/ cos? 30°+ sin® 45" -15 tan? 60° &1 T &

(A) O (B) 1
© ) o) Y
&Aﬂammﬁﬁmw%mﬁa&
=1 T |
(A) 1803 (B) AT
(C) 1600 (D) 1781
e
A T 8 3o s o @
(A) = (B) e
(C) e (D) T
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24. Complete the analogy:
Geometry : Euclid: : Co-ordinate Geometry : 7
(A) Rene Descartes
(B) Euler
(C) Cantor
(D) Newton
25. Bleaching powder is
(A) CaOCI (B) CaOCl,
(C) CaO,Cl (D) CaO,Cl,
26. Several Ganas used to make a
(A) Mandal (B) District
(C) Sangha (D) Hobali
27. Which of the following cities is famously
' called * Scotland of India’ ?
(A) Shimla
1 (B) Kodagu (Coorg)
L (C) Ooty
| (D} Darjeeling
28. InOctober 1907, A State L.evel Conference
was held by Lala Lajpat Rai and was called
as
(A) Quit India
(B) Azad Hind
(C) Swadeshi Andolan
(D) Sathyagraha
29. Find the missing letters (?) from the options
for BF, JN, RV, ZD, HL, ?
COsEy (8) LP
(C) GK (D) QU
30. 13 =4y +5=0 an . 2
represen the same fin then thé value of
(A) 5 () 15
(C) 10 (D) none of these
U

N O AR

24/ AAEd] o} 2 |
st T-[ﬁﬁg .« fream ST ¢ 7
(A) T T
(B) I
(C) =l
(D) =&
}&’”’ﬁ‘lﬁﬂm%
(A) CaOCl (B) CaOCl,
(C) CaO.Cl (D) CaO.Cl,
J___?i%lﬂﬁﬁﬁﬂvﬁmmﬁmf' |
(A) HEd B) foem
(C) &4 (D) Erae]
o7, Freffae §E R TRE I # e
- i
(A) famen
(B) a7 (F)
(C) A
(D) =rfsifem
28 HAZET 1907 H, ST SASIq 79 g1 T 759
T geies s e e, o
T A1 |
(A) WTE BlE!
(B) e f&e
(C). eIt AT
(D) HIE
\ﬂF. JN, RV, ZD, HL, ?
& forsredi # @ o 18w (2) T F |
(A) PT (B) LP
(C) GK (D) QU
. Af2 3x—dy +5=0 3N 6x By + k = 0 T
W FI AR E, Ak F A R
(A) 5 (B) 15
() 10 (D) T A Frd T
-6-

+ 3.'-"-"."”-5"1";_': o

B

b 3yt

il

31.

32

T
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64. With reference to M
consider the following S

65.

66.

67.

68.

odern farming in India

tatements.

ion | jculture
1. Jtledtogreen revolution IN agricult

productions 1N 1950's.

2. Ihntrnducedihengh‘ﬁeh:lin
(HYV) of wheal seeds only.

3. Farmers of Punjab, Haryana
Waestern Uttar Pradesh were the first
to try out the moaern farming method

g Varieties

and

in India.
4. HYV seeds, however, needed plenty
of water and also chemical fertilizers

and pesticides.
Which of the above are true ?
(A) 2,3and4
(B) 1,2and3
(C) 3and 4 only
(D) 2 and 3 only

Boo Ali Shah Kalandar was a

(A) Soofi Saint

(B) King
(C) Fighter (D) Soldier
Combination of B ‘
- agh and Phulkari is called
(A) Topi (B) Phag
C
(C) Loor (D) Chope
Find the word which |

ich ‘

other 3 opti ol Tamte

ONs given below

B
(C) Mahabharata i) Panchatantra

(D) Upani
| shad
Theatre on Bikes is a Project start

(A) Satyajith Ray
| |

ed by

} Manish Joshi Bimm
;ﬁﬂj ‘Karna Prasad 1!:\

VTSRO g
e s Y Py

.'ﬁ/mﬂﬁﬂﬁwm'
. =gl a9E @ 1950 ® FW Irqmey ¢
efasifd g8 |
e TS |
3. e, g ST afTeEEl I N
a3 ged gedt |G | S FHiy

¥ afit =1 9= fRAT |
4 HYV SISt 1 HGE S, TEEET

S aiN TRl <t SELd el o |
TR Hd FA-AIEA® ¢
(A) 2,33 4
(B 1,233
(C) e 3 3T 4
(D) “Hael 2 3T 3
65 T 3wl I Ferat U |
(A) &d gh (B) T
- ©) ferareh
| -l
(A) 2 () n
o () i
ETfﬁﬁEWEﬁﬁ?aq’fﬁﬁﬁmmﬁl
(A
) THTET VDI
i (D) 3Iufwz
mm%m
™ | ——— FRE fEm
(A) Tersfia y
E} T e
) T SAreft
{D}_ "‘Wf'-ﬂma ﬁf&lﬁ
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wumber 1S
13. Seven times a given WO digit |

umber obtained by
and the difference

number is

equal to four imes the n
interchanging the digits
of the digits is 3. Then the
(A) 36

(B) 25

(C) 14

(D) none of these

A Commission for the Re-organisation of
States, according to language and culture

was set-up by the Indian Government, in
the year 1953, under the Chairmanship of
(A) Syed Fazal Al

(B) Mahatma Gandhi

(C) Jawaharlal Nehru

(D) Subhashchandra Bose

14.

15. Inthe midst of a debate on Decriminalization
of Politics running across political party, one
of the earlier measures to stop unethical
political affairs the Anti-Defection Law was
brought through
: (A) 90" Constitutional Amendment
' (B) 91* Constitutional Amendment

(C) 51% Constitutional Amendment

(D) 52 Constitutional Amendment

16. Whichofthe following movements that made

Gandhiji, a truly National leader ?
(A) Kheda Satyagraha

(B) Non-co-operation Movement
(C) Rowlatt Satyagraha

(D) None of the abgye

LN

If —3 is the Zero of the polynomial
ﬁf{uj =2x*—(@+ 1) x + 4a then value of a is
(A) -3 (B) 0

G :
€ 1 ©) 3/

Witk mayy,

13 wﬂmﬁmmmw%&l T
mmqinﬁhmmmmm:ﬂm% l R
37t 37! o1 3T 3 8 | 1 Hey & g f

(A) 36
(B) 25
(C) 14
(D) =9 9 g T8l
/T TR HEFT o STET T s,
- g 9 0 1953 H U SEm |
£ ye7eraT 8 ad foRan T |
(A) T8 Foret 3l
(B) HeTeHT e
(C) <ETEl |Aled 8%
(D) GHTIIz S
\ 15, rorfifeh zeit  aerif & s T
989 & 09y 1, afas usfas &1 15
U AR 3™ & &9 H uid-Fd= =h
F F WIEAH § A1 |
(A) 90 9T AfaaE gmas
(B) 91 9T Hiers= vy
(C) 514l Gfaum geiye

(D). 52 97 "fF9= guiya
%ﬁﬁf@aﬁﬂﬁ-ﬂ TR IR RE

H=1 3] S ?
(A) 31 HeamTe
(B) 3THEAM e
(C) ez wemme
(DY =99 A =1E 77
17/ afe - 3 agyeia f(x) = 252 — (@ + 1) x+ 447

At dMagFiam
(A) -3 (B) 0

(& © %

19.

20.

21

s
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35.

36.

37.

Home Rule League Agitation
(A) Vivekananda

(B) Sister Nivedita

(C) M.K. Gandhi

(D) Annie Besant

was started D'jl’

If21¢ of July was Saturday then 4* July wa
of the same year was )

(A) Wednesday

(B) Thursda
(C) Saturday ;

(D) Tuesday

The Andam | |
L an and Nicobar is separated

(A) 10° channel
(C) 6° channel

(B) 8° channel
(D) 12° channel

The distance between the points (a+b,a—Db)
and (a—b,a+Db)are
(A) O

(C) v8b

(B) a+b

(D) none of these

The age of a father Is equal to the sum of
the ages of his 5 children. After 15 years,
the sum of the ages of the children will be
twice the age of the father. Find the age of
the father.

(A) 40 years
(C) 48years

(B) 40 yeals
(D) 50 years

Which State in the following lies to the east

of Haryana ?

(A) Rajasthan

(B) Uttar Pradesh
(C) Himachal Pradesh
(D) Punjab

Three cubes each of the side 1.5 ¢M are

joined end to end, t
resulting solid is

he surface aread of

33 B & ol AR I gy
(A) TaaeTe 3
(B) fawe fafea
(C) TN <, T
(D) Ut FFE
32/ f 21 s wifER o1 A 3 AW 4 ed
1
(A) HH991 (B) TEAT
e) EIEEIE (D) WA
33 seym s fFER_ FOUEEE
(A) 10° 99 (B) 8°=Ad
(C) 6°=d (D) 12° 97«
34 ﬁgaﬁ{a+b,a—h]ﬁ{a—h,a+h}##ﬁ
(A) 0 (B) a+b
(C) V8D (D) T8 ° 1S T

]
}Mﬁﬁmaﬁmﬂﬁﬁaﬁ?ﬁm%ﬂ‘m
% FeR 2 | 15 991 & =18, Fedl 3l AF Fl

st foet 1 g & e € | o 61 9T
H1d L |
&) 08 @) 457
£ e ©) so
27
(A) TS
(B) I I
(C) e UET
(D) TS
;?/9% 1.58H. ﬂmaﬁgqﬁraﬁm@a:‘g’[
ﬁﬁﬁ@ﬂm%,w&mﬁaﬁamg@ﬂw%
(A) 29.75cm® () 31.5¢cm
(C) 30.25cm’ (D) 32cm’
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10.

.

12.

Which of the I‘Dilnwmg doe
g
under Balance of Pa‘h’mem
(A) Budget E‘Stir‘nanun
borrowing

Transaction bem&en :
countries

COnstity,

ta

Lish o 2
of 2Xternal

(B)

(C)
World Bank

(D) Grants given to Union Territor
ries

Consider the following Statements

nuclear minerals ang nucle
stations.

1. In Rajasthan ang Jharkhand we have
large deposits of Uranium minerals.

2. Kerala has large deposit of Thorium
material.,

3. As of today Orissa State has no
nuclear power station.

Which of the following is not correct ?
(A) 1only (B) 2only
(C) 3only (D) none

Regarding food, Haryana is called as
(A) Land of roses

(B) Land of thorns

(C) Land of smiles

(D) Land of rotis

- 42018 (1) (g1
8. ﬁﬁhﬁzﬁ HH -4 WA e g
Ferte E] 3T
(A) aTEl 0T 1 S SFur
(B) wrtd 3 faewm & iy st
(C) W 3 IMF 3 favm &% e
Hdaiu]
9, ~rfirea wfetl 3R Arivehm ot 95 %
T e st o i
1. ToEgH AR AREE TR a5 e
TS E |
2. FTe H YIfEn & 988 YSA R |
3. 9 I arfiE@ g =9 T 0 3

Sofefaa i g #H-aT oA TE £ 7

(A) Fae 1 (B) e 2

(C) Fad 3 (D) s
10, @™ F F94 |, BT S
-

(A) T T

(B) et 1 o[

Which is the smallest district of l-‘laryana ?
(A) Hissar (B) F.anda.bad

(C) Sonipat (D) Biwani b
Find the number which is not like the ot

3 numbers. & S

- e (D) 12672

(C) 12556
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38. Which of the foll
(A) 1,1,2,2 33
(B) 0.3,0.33, 0.3353,.

(C) 2,2,2v2,4,..
(D) ?.?+J§.?+2J§.?;3J§,_,_

owing form an AP 7

If '+' means 'x, '— means '+, 'x’ means -’

39.
and '+’ means '+ then 10+4x25-5+8 =
(A) 48 (B) 53
(C) 35 (D) none of these

40. The famous actress Juhi Chawla is from
district of Haryana.

(B) Rohtak

(D) Ambala

(A) Pinjore
(C) Sonnet

41. The High Court building of Chandigarh was
designed by
(A) Edwin Lutyens
(B) Le Corbusier
(C) Laurie Baker

(D) Cornwallies

42. Area of the circle inscribed in a square of
side 2 cm is
1
(A) —cm? (B) ™ em?
——cm
¢ V2
&R
(C) Iemz (D) —;- cm’

43. Archeological discoveries at
show that Haryana was a part of Mauryan

empire.
(A) Saranath (B) Cylone
(C) Sugh (D) Kurukshetra

VOO0

38 ffctfias 1 8 s -1 ek FHia 207 s, |

(AY 1,1,2.2,8:8,.
(B) 0.3,0.33, 0.333,...

(C) +2,2,2V2,4,...

D) 7.7+v2,7+242,743\2 ..

Lag_ | T 31'& "5 ?—f ‘=" oh] a:fﬁ R ol 1)

et e A 4 A 1044 %2559 _
(B) 53
(D) ¥4 & F1 7]

(A) 48
(C) 35

agc iEg Al e afEonE

G gg |
(A) fusi (B) Tree
(C) €Mz (D) 3T

4x7 FENR I=9 A #F1 IRE F1 fewd
A ST |
(A) T gfea=g
(B) it Fid

(C) =&
(D) =iarferg
: Jﬁﬁﬁ.w%t{maﬁfiar—ﬁﬁhqﬁm
&A% 2
| -

(A) g (B) %rzrﬂE
(C) - '.."‘.-i'l"'l2 (D) _cmE
437 & quafem @ gt &

BT 9 oy 5 o |
(A) ATy (B) H&
C) = (D) e

L.
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Thanesar ruled by Harshay
was In the vicinity of
(A) Kurukshetra
(C) Biwani

a rdhan a ’f{ll‘lg

Haryana is the
MOst populous

State in India.
{A} 1ﬁ=n {E] 1?“1
(G, % (D) 14n

The eleventh State Assembly election took
place during

(A) 2013
(C) 2015

(B) 2014
(D) 2016

By the 1930s, the Congress had accepted
that Hindustani ought to be the national
language, Hindustani is a blend of

(A) Sanskrit and Hindi

(B) Hindi and Urdu

(C) Sanskrit and Urdu

(D) Sanskrit, Hindi and Urdu

On which of the following hill range is the
‘Doddabetta’ peak situated ?

(A) Nilgiri hills

(B) Cardamom hills

(C) Annamalai hills

(D) Nallamala hills

Haryana State shares its poundary with

(A) 5 (B) 6
(C) 4 (D) 3

T imilar to plasma
Name the fluid tissue Slnd contains |ess

of blood but colourless a

g B) Dialysing fluid
Eg; E;?;i:t (D) pleural fluid

57 ®Uayq e gy witEd AT % ST
o | |
(A) FEar (B) FaTen
(C) firarh (D) TEFa
58, BRI AEH AT Sy,
- ik
(A) 16" (B) 17°
(C) 15" (D) 14"
59 11 9 Ty faum @1 719 7
2 Y |
(A) 2013 (B) 2014
(C) 2015 (D) 2016
60. 1930 &% e 3 fegearl =i {11 & &Y
i =i = fora o e 1
s 2 |
(A) F&pa 3 TRl | L o
B) f&dt si=e
(C) T&Fd I3

(D) €, &t a3
}Kfﬁﬁfﬁaﬁﬁﬁmw&ﬁm&vﬁm‘ﬁﬁ?'

A feaa 2 7
(A) Hefi garieal
(B) Freimm gerfet
(C) TS FaTTeAT
(D) eeHe TETeA
62 RN UF 1 HME =] Al
2|
(Ay 3 (B) 6
C) 4 D) 3
1 3 3 T AT A S T o A
B L bk LI
(A) wTETE (B) SEETE
(C) e (D) @
U



4/2018 (1) (E17)

\8

feet wman
79. &ﬁﬁﬁ@ﬂaﬁﬁﬂﬂmﬁaﬁ%

3Py 2% 3 gt 9T ST 8, o 98l HA-E
iR gl & 7

(A) Tifad (B) 39HI

(Cy vem (D) BHEEITE
Prffige & @ T a1 o I |
(A) wfafaFan (B) WelThT
(C) wfrfr (D)W 1Tsha
m+§ﬂ:‘mi.ﬁ:ﬁﬂﬁ%?
(A) ferd w1 (B) 'ﬂia:r‘ﬁﬁ?
(C) o & (D) Ff& &M

=y oy g =8 AT & FHar H fdf@n |
(A) Bft a0y Tg T |

(8) &t & uw vg sl |
(C)&ft & 1y Ta1 ST |
(D) B3 7Y 9gT |

83 ‘9§ I7ee F AgAA FAR
(Ay =gl (B) FEH
(C) =gC (D) 9EQ

(31) (@)

1. §9E—_ 3. 56
2, WH’M. 87
3. fdm 3. 69
4, ITEW 3 35

(A1 - 3 2-31.3-3
B 1-3 2-% 3-30
€)1 -3 2=~% §-=9
@1-3 2-3 3-3

85-

86.

87,

R0 OO

‘31’ wTea F W14 T 3TE T e 7
(A) 39
(C) A

Erafafaa § | ‘wAtE w1 9AEEE s
TE R |

(A) =ifE (B) #H
(Cy =3 (D) 94
‘Jeare Tag 79 <R T4 qE & 7
(A) 19 T8 (B) AR TH
(C) FF & (D) “TMTH

88. ‘HeE e Yol & A W IR T

7= Fe |

(B) =AfFqar=sh H, qfeetn, U 394, 79

Fh, TEd1 & 5 6 FH

(C) “a aras |9, Yigh, UF 994, w

FE, Tadl & (a1 & HH

(D) =afFqaT== g, Siiem, & 39,

FATFRF, Tadl e (FI1 &1 F

89 T H & =T = T8 FH-T1 q0E 8/

(A) 7= (B) 31=gdl Wi

(C) =i (D) TETES
90, ‘WTEl IBTA HEEL T AU 2

(A) HF¥iF BT

(B) T Y1 THAH FTA

(Cy” =gssia Tl

(D) 3Tv= W FAT
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18.

19.

20.

21.

The values of x and
equations 2(ax — by) +
EI:DK+EI‘],I':I -I-b—q_a -

Y salistying the

Q + 4b = 0 ang
0 are

1

-E'l? E

_a/ :
{C} X /Ety % {D} x:1,':.|"_—..‘l

A_n object 5 cm in length is placed at a
distance 20 cm infront of convex mirror of

radius of curvature 30
cm. The iti
the image is at (i

(A) 8.6 cm behind the mirror
(B) 8.6 cm infront of the mirror
(C) 6.67 cm behind the mirror
(D) 6.67 cm infront of the mirror

Al x=2 — ¥
{ R f'fé

(B) x=

Shawl made up of embroidery work is called
as

(A) Kashmiri Shawl (B) Bagh
(C) Pashmina (D) Doshalla

Number of functional iterns or administrative
powers given to Municipalities under 12"
Schedule of the Constitution is
(A) 29 (B) 28
(C) 18 (D) 19

Mr. P started walking towards South. After
walking 15 metres he turned to the left an.-::i
walked 15 metres. He again turned to his
left and walked 15 metres. How far is he

412018 (1) (g1,
\ .1_3_- “ArERToT D(ax — by) + 8 + 4b = 0 3
2bx +ay)+b-4da= 0 %1 {™ T a3 r

: 1
E-'ﬂ-.l:l K:E_y‘:?}’é {B? A :?.'y' 2
(C) x--%,y-% (D) x=1,y=1

19 e 5 8 3y o ) 7 30 .. T fry
7 e 3w e % w20 8. A7 g
P gqffEEETE TR

(A) =4 F 8.6 . Fid

(B) =il ¥ 8.6 8. 1. T

(C) =iv & 6.67 & 1. 11

(D) =90 6.67 H.41. AT

(A) THHI FITE
(C) TETHIT

C i fu o wEET TR A SEfE wiEe
#F1 JE& 2

(A) 29 (B) 28
(C) 18 (D) 19

\ﬂ,/aﬁpafwaﬁ’taﬂ'{aaéﬁ | 15 T =
3 e A e af 15 e e 8 | T

S A e 15 I e & | R SR

20. _ wEAEe |

fog & R T 7
(A) 15 HI (B) 301
(C) 45H (D) FHAFRE T
};.,/nABGﬁ, AB:?%J&,A{::Wﬁ.ﬁLaﬂI
BC=2J308M. @B
(A) 120° (B) 60°
(C) 90° (D) 45° |

from his starting point 7
(A) 15 metres (B) 30 metres
(C) 45 metres (D) none of these
In AABC, AB = 2 ¢m, AC = 13 ¢m and
BGC = 2+/30 cm then Bis
ﬂﬂ
(A) 1207 (B) 6 ,,
(C) 90° (D) 45
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90.

51.

52.

23.

54.

55.

h n I nm ﬂha'l:l
der GDF‘IE! I'"I.JGUG MLI "IDE.I-A E-"d
eun

oot is funded DY
bullet train projee (B) South Korea

A) Germany
:LC:; Japan (D) France

tion
Haryanawas iormedonthe recommenda

parliamentary Committee.

s ol
(A) Sardar Hukum Singh
(B) Tara Singh
(C) Chotu Ram
(D) Chaudhary Devi Lal

if ‘ICE’ is coded as 17 then 'TEA' is coded
as

(A) 18
(C) 26

(B) 19
(D) 27

Which of the following Viceroy was
associated with libert Bill controversy ?
(A) Lord Curzon (B) Lord Ripon
(C) Lord Lytton (D) Lord Mayo

Find the missing number in the sequence,
8, 4,612,6,18,9,7

(A) 20 (B) 25

(C) 27 (D) 30

Sultanpur Bird Sarnicluary is located in
(B) Sultanpur
(D) Ambala

(A) Gurugram
(C) Sonipat

Below some fresh water bodies are given,
arrange them from larger to smallest

quantity of water in it and select the right
code.

(A) lce-caps — Ground water — Rivers

(B) Rivers — Ice-caps — Ground water
(C) Ground water — lce-caps — Rivers

00 AN AR N
\go, fmiom iaré - STEWETETE e o Uit

ﬁﬁﬁﬂd ___gmﬁmm‘m?gl
o B gt
(C) I (D) %TH
51, Wﬁw______?ﬁqqﬁi
T i o el E
(A) HTEH EFH T8
(8) am e
(C) BT
(D) frerdl 2l A
52,7t ICE' 1 %2 17 &, a1 TEA'FI % B
C (A 18 (B) 19
(C) 26 (D) 27
w.""ﬁéﬁaﬁm#mmaﬁq—mﬁwﬁeﬂ
f 91 7
(A TS FiA B) =re fro=
() =@s faeA (D) TS Tl
u 2 i n n ; .
WBAJE,BJB.Q.?ﬁﬂCﬂF@ﬂW
call
(A) 20 (B) 25
(C) 27 (D) 30
55, Heamq d&fEEr T forE 2 |
(A) TR (B) HeaE Tl
56,91 9 a1 T ¥ v Frem fu ,
STRIHT & = el S T i Sated
SUEHE T Sl

(A) TEE-FT - offy 5§ - 7
(B) T - IdE-F9 - Wiy =
(G ¥ = - sEm-F - 7

(D) Rivers— Ground water — Ice-caps

(D) 7= - W T - IEH-FY

61.
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Enqglish

GhﬂﬂEe the alternative that is opposite in meanin
o the given word. g

Plenary

(A) Mislead
(B) Restricted
(C) Complete
(D) Mysterious

" Perilous
(A) Fine (B) Delicate
(C) Healthy (D) Safe

Use the appropriate modals to fill in the blanks.

79 You have written to him yesterday.
(A) oughtto
(B) dare
(C) will
(D) need

see him, give him my

fyoud . ————

4/2018 (1) (E17)
nguage
Tﬁ,, | to go out, but | had too much
work.
(A) hoping

(B) have hoped
(C) have been hoping
(D) had been hoping

Give single words for each of the following

expressions.

75. Incapable of making mistakes or doing
wrong.
(A) lliterate
(B) Infidel
(C) Intallible
(D) Ineligible

_';ﬁ.’f;uircraﬁ with two pairs of wings, one above
the other.
(A) Biplane
(B). Biography
(C) Biology
(D) Biopic

Fill in the blanks with correct options.

77. It's very kind of you to to speak
/ at the meeting.
(A) Divide (B) Comply
(C) Agree (D) Deny
78¢ The battalion operating from the mountas
was able to -
(A) tie with (B) tieup
(C) tieon (D) tie doWn




0 OO0t

44. Legislative Assembly of

46.

47.

H
laws on the subject Inclug aryana Passes

Schedule of the CD“stitmfim the
Lo (B) gv
&) 9 D) 10

Who among the fnllnwing Named for th
[

‘most valuable player of Asian
of
o slan Games 2018

A M
[C} Er?f Kom (B) Rikako lkee
(C) Bhajrang Punia (D) P.V. Sindhu

Fore brain is Specialised for
(A) Hearing

(B) Smell

(C) Sight

(D) Walking in a straight line

Which of the following statement/s is/are
true with reference to cytoplasmic male

sterility ?

(A) Cytoplasmic male sterility is total or
partial male sterility in plants.

This phenomenon has a wider
application in plant breeding.

Both A and B are correct

Both A and B are wrong

(B)
(C)
(D)

Solutions of the equation
45 x? + 3x —2J5 =0 are

£2 5
(A) 5,2V5 B 516
© i%i:é ) 5

Read the follo
nationalism and ¢
(A) It may leads
states by conso
e Iso leads to @ break-up of

may a
ILfnidt:m!::r:-r confederacy into a many new

states

to a formation _qf new
lidation or unification

(B)

4/2018 (1)
BRI ) ey wfaar
ST W anfire Famt R W1 |
(A) 7m (B) 8"
C) g (D) 10"

“. (E17)

ji/ﬁfﬁwa W 2018 TR 0 ‘axifery
Heaa fiaerdl afia B mn 2 7

(A) ufl =7y (B) T ==
©) wnyfEn (D) A fay
(A). G
(B) #=mm
(C) =@
(D) U Hifi T@m § wer
a7 e e ko

HFH-TIFIH A2 7

(A) TSRz T S wen ¥ ol
AT T AT 2 |

(B) ¥9 UftHEaT F1 WeY 594 7 AT
AT 2 |

(C) A 3R BaH el &

(D) A 3 B! Teid &

W4£12+31—EJ5-:U?*35%
-2 5
(A) 5,25 (B) JE‘;E

-2 95
(©) E{ (D) V5,5

}/m%mﬁﬁﬂ%ﬁaﬂﬁﬁmw
i o 7 =4 |

(A) TR O 1 T S 8
T FATE S §hd & 3 7

(B) TR UeHTeHAT AT FHAE T
e

(C) M| T4 ®

(C) Both are correct
(D) None

(D) I3 A&l




